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In the following sentence, four words, marked as A, B, 

C, and D, are given in bold, out of which one word may 

or may not be misspelt. Identify the misspelt word and 

mark it as your answer. If all the highlighted words are 

correctly spelt, mark "All are correctly spelt" as your 

answer.



The vaccine (A) will innoculate (B) individuals by 

strengthening their immune (C) systems against prevalent 

(D) viruses.

1. A

2. B

3. C

4. D

5. All are correctly spelt



The marathon (A) runner's perserverance (B) drove him 

to train diligently (C), ultimately crossing the finish line 

with triumph.(D)

1. A

2. B

3. C

4. D

5. All are correctly spelt



Despite feeling concious (A) about her attire (B), she 

confidently entered the room, unaware (C) of the 

admiration she garnered .(D)

1. A

2. B

3. C

4. D

5. All are correctly spelt



Despite his best efforts (A), the waiter managed to 

embarass (C) himself by spilling drinks in a comical yet 

awkward (D) moment.

1. A

2. B

3. C

4. D

5. All are correctly spelt



Embracing authenticity (A) fosters confidence and 

contentment (B), allowing us to create (C) our accepted, 

genuine (D) selves in life.

1. A

2. B

3. C

4. D

5. All are correctly spelt



Select the phrase from the options below that should 

replace the underlined phrase in the sentence to make it 

grammatically correct. If the sentence is already correct, 

select 'No correction required' as your answer.



As we drove leisurely along the winding coastal road, the 

vintage, red, small Italian sports car swiftly zoomed past us.

1. the red, small, vintage

2. a red, small, and vintage

3. the vintage, red, and smaller

4. the small, vintage, red

5. No correction required



Our reliance on digital storage for numbers dulls our 

ability to remembering even essential phone numbers.

1. dull our ability in remembering

2. dulls our ability for remember

3. dulls our ability to remember

4. dulling our ability to remember

5. No correction required



Balancing work demands with personal life is vital for 

sustained productivity and the overall well-being of 

employees.

1. vital on sustained productivity

2. vital for sustained productive

3. vital in sustained productivity

4. vital in sustainable productivity

5. No correction required



As reliance to AI and digital networks grows, the risks 

of truth distortion via deepfake technology intensify.

1. As reliance on AI

2. Although reliance on AI

3. Even though reliance to AI

4. As reliance for AI

5. No correction required



People often fear retirement due to losing identity and 

purpose, but it's a chance to new freedoms and meaning.

1. rather its a chance for

2. but it's a chance for

3. rather it's a chance to

4. but its a chance to

5. No correction required



Choose the most appropriate word to fill in the given blank.



Attackers are using technology to defraud users, steal their 

identity, and to engage in various other _______ activities 

like phone scams and posting fake videos on social media 

platforms.

1. encouraging

2. ethical

3. scrambled

4. regressive

5. illegal



Prime Minister Narendra Modi urged global investors to 

explore investment opportunities in the country’s energy 

sector, saying India is the most _______ place at present.

1. exquisite

2. forbidden

3. opportune

4. permitted

5. ambiguous



If a mall will be built in our neighbourhood, traffic is sure 

to increase _______ and it would be very unsafe for kids 

to cross the road alone.

1. sophisticatedly

2. patiently

3. exponentially

4. aggressively

5. conveniently



He was fired from work because he used words that were 

ignorant and _______ toward the women in the office.

1. ingenious

2. derogatory

3. complimentary

4. flattering

5. fragile



Retirement income portfolio is created at retirement using 

the wealth that an individual _______ in her retirement 

portfolio during her working life.

1. reveals

2. aggravates

3. consolidated

4. absconds

5. accumulates



In the following questions, there is a statement divided into five 

parts, when arranged properly forms a coherent sentence both 

grammatically and contextually. Choose the best alternative 

among the five options given below each statement as your 

answer.



Ukraine needs to cancel the ban on negotiations (A)/ reported 

TASS, a Russian state-owned news agency (B)/ the Russian 

President made it clear that (C)/ by which he prohibited 

himself and all others from conducting negotiations, (D)/ 

imposed by a decree of the Ukrainian President (E)/

1. ABDCE

2. BCDEA

3. CAEDB

4. DEABC

5. EACBD



of petroleum-based jet fuel but with a fraction (A)/ of its 

carbon footprint, giving airlines solid footing (B)/ SAF made 

from renewable biomass and waste resources (C)/ for 

decoupling greenhouse gas (GHG) emissions from flight (D)/ 

has the potential to deliver the performance (E)/

1. AEDCB

2. CEABD

3. DCBAE

4. EDCBA

5. BCDEA



were not protected in the epidemic, and (A)/ the outbreak was 

originally mistaken for Japanese encephalitis, (B)/ who had 

been vaccinated against Japanese encephalitis (C)/ but 

physicians in the area noted that persons (D)/ the number of 

cases among adults was unusual (E)/

1. DABEC

2. ABCED

3. CBDAE

4. EDABC

5. BDCAE



the India Meteorological Department said several parts of the 

country (A)/ including the northwest, central, and south India 

(B)/ in the coming days due to low-pressure conditions (C)/ 

building over the northwest and west-central Bay of Bengal 

(D)/ are likely to witness light to heavy rainfall (E)/

1. ABECD

2. BADCE

3. ACDEB

4. BEADC

5. CADBE



In the following question, two columns are given, containing 

three phrases each. A phrase from the first column may or may 

not connect with a phrase from the second column to make a 

grammatically and contextually correct sentence. There are five 

options, four of which display the sequence(s) in which the 

phrases can be joined to form a correct sentence. If none of the 

phrases make a correct sentence, mark ‘None of these’ as your 

answer.



1. B-D and C-F

2. B-E

3. A-F and C-E

4. C-D

5. None of these

Column (1) Column (2)

(A) The Ceiba tree is a tropical tree
(D) and according to Maya mythology, 

it was the symbol of the universe.

(B) In Central America, the ceiba has
(E) native to North and South America 

and Africa.

(C) The ceiba was the most sacred tree 

for the ancient Maya,

(F) great symbolic importance to the 

ancient Maya



1. B-D and C-F

2. C-D

3. A-F and C-E

4. B-E

5. None of these

Column (1) Column (2)

(A) Individual therapy, or Adlerian 

therapy, is an

(D) ability to bring about positive change 

in his or her own life.

(B) Adlerian therapy emphasizes the 

individual’s

(E) between the therapist and the client.

(C) The relationship should consist of 

collaboration

(F) approach in which a therapist works 

with a client to identify obstacles.
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